

$$x'(t) = \underbrace{x(t) \cdot u(t)}_{f}$$

$$x(0) = x_0$$

$$G(x, u) = \int_0^T \underbrace{(1 - u(t))x(t)}_g dt$$

$$H(\lambda, x, u, t) = \lambda u(t)x(t) + (1 - u(t))x(t) = x(t) + u(t)x(t)(\lambda - 1)$$

MP:

$$H(\lambda, x, u^*, t) = \max_u \{ x + ux(\lambda - 1) \}$$

$$\left[\begin{array}{l} x \geq 0 \\ u \in (0, 1) \end{array} \right.$$

$$u^* = \begin{cases} 1 & \text{gdj } \lambda > 1 \\ 0 & \text{gdj } \lambda \leq 1 \end{cases}$$

KOSTAN

$$\begin{cases} \lambda' = -1 - u^*(\lambda - 1) \\ \lambda(T) = 0 \end{cases} \quad t \in (0, T)$$

$$\lambda(t) = \begin{cases} -t + T & \text{u odik } t \in (T-1, T] \\ e^{T-1-t} & \text{u odik } t \in [0, T-1] \end{cases}$$

$$\downarrow$$

$$u^*(t) = \begin{cases} 1 & t \in [0, T-1) \\ 0 & t \in [T-1, T] \end{cases}$$